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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or AE AE
Tm =R fER
50cm 0.09 0.08
RS
im 0.09 0.08
LS TE S BV %0em 0.1 0.10
L
/ im 0.11 0.10
S8 (7 £ OR 50om 0.09 0.10
R im 0.09 0.10
B -0 O (i oo 011 0.10
Ell
2 im 0.10 0.09
Lt - OR (B o0erm 01 o1
Ell
2 im 0.11 0.10
13 L R |EBBGERR 7A158
50cm 0.08 0.08
TREDRRS
im 0.08 0.09
50cm 0.10 0.08
INERE
im 0.09 0.07
50cm 0.09 0.10
E
im 0.08 0.09
50cm 0.09 0.09
1B EEE R )
im 0.09 0.09
50cm 0.07 0.07
BRSBTS
im 0.08 0.07
50cm 0.07 0.06
TR
im 0.07 0.06
50cm 0.08 0.07
MRk
im 0.07 0.07
50cm 0.08 0.07
*ABTHHEENEIR
im 0.07 0.06
50cm 0.09 0.07
14| E#EH | BsH |[TEER B TIEO—R 68238
im 0.08 0.08
50cm 0.07 0.06
NEZLELD
im 0.06 0.05
50cm 0.09 0.06
KHEENER
im 0.08 0.06
50cm 0.09 0.08
AAIEE S
im 0.09 0.08
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im LS LEES
50cm 0.08 0.08
I\IEE
1m 0.08 0.08
50cm 0.07 0.07
BT
1m 0.07 0.08
50cm 0.08 0.08
15 AJIIET BR (| BMERER THEAEE R5E 6A25H
1m 0.07 0.07
50cm 0.09 0.07
BREMER
1m 0.08 0.08
50cm 0.09 0.08
RTILTDE
1m 0.08 0.08
50cm 0.08 0.07
16 AJIET AR |FERR X 6A25H
1m 0.08 0.07
50cm 0.08 0.08
HEE
1m 0.08 0.08
17 AJIET SRRML | JEREESR 6A25H
50cm 0.09 0.09
im BHEE
1m 0.08 0.08
50cm 0.09 0.09
18 AJIET ERH IEORER R Ler 6A25H
1m 0.08 0.09
50cm 0.09 0.09
EDRILER
1m 0.09 0.07
50cm 0.11 0.10
R R
1m 0.10 0.10
50cm 0.11 0.10
19 B BRHh |ZFOR5LER BEL 6A25H
1m 0.11 0.10
50cm 0.09 0.09
TIIREERE
1m 0.09 0.08
50cm 0.10 0.08
EHE5
1m 0.10 0.09
50cm 0.09 0.08
KEEKEE
1m 0.09 0.08
50cm 0.09 0.08
20 G Hiee) AR |RFERR AEEXRERES 6A268
1m 0.08 0.07
50cm 0.11 0.10
AEEFIEBIES
im 0.11 0.10
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.08 0.07
BFERITYHRTIL
1m 0.09 0.09
21 i ks BRM (FHEFIER 68268
50cm 0.09 0.10
Ruiay [FEOR
1m 0.10 0.09
50cm 0.10 0.09
A—IFILIE
1m 0.09 0.10
50cm 0.09 0.08
BRE
1m 0.09 0.08
- 50cm 0.08 0.08
2 | g | Ese RESOFERGEN oy 7A28
1m 0.08 0.08
50cm 0.09 0.09
N=RFa—H—Fv
1m 0.08 0.10
50cm 0.08 0.08
Fr A=Y
1m 0.08 0.08
50cm 0.08 0.08
HYYRR
1m 0.08 0.07
50cm 0.12 0.12
K=
1m 0.12 0.11
50cm 0.08 0.08
23 K WRHT BRI (| HOYRR F—riR—ILi5 71A28
1m 0.08 0.08
50cm 0.08 0.09
EHEEL5 (B4
1m 0.08 0.08
50cm 0.11 0.11
BHELL5 (A1)
1m 0.11 0.11
50cm 0.08 0.09
21—V RE
1m 0.09 0.08
50cm 0.09 0.09
24 RERET BR RERR EHEL5 (L) 6A26H
1m 0.10 0.09
50cm 0.10 0.08
EHEEL5 (B4
1m 0.08 0.09
50cm 0.10 0.08
TR
1m 0.10 0.09
25 ot SRR |HIEGRR 6A268
50cm 0.11 0.09
FaHhns)7E
im 0.11 0.10
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER R
50cm 0.09 0.09
ErEi5
im 0.10 0.09
25 petiag SRR |FIRR 6A26H
50cm 0.10 0.09
HEEREEES
im 0.09 0.09
50cm 0.07 0.06
BREEILER A ERNFT
im 0.06 0.06
50cm 0.07 0.07
KFEEWER
im 0.06 0.07
50cm 0.09 0.09
KEERTOULKRTIL
im 0.09 0.09
50cm 0.06 0.07
RERESER KIS
im 0.07 0.07
50cm 0.08 0.09
FHhATS—RFE
im 0.08 0.09
50cm 0.09 0.07
HLNDIEH—
im 0.08 0.07
35U 5 AR RER o0em 007 007
R im 0.07 0.08
50cm 0.09 0.08
26 AN il |[ERHE AT—HAY FUla 6H248
im 0.08 0.08
50cm 0.08 0.07
RETEHN
im 0.06 0.07
50cm 0.09 0.07
KEENEER
im 0.09 0.07
50cm 0.08 0.07
#H(ZRITREXIE
im 0.08 0.07
50cm 0.07 0.06
INTHhREEMPRE—
im 0.07 0.06
FHENOVARHE N o0em 0.06 0.06
BE@ YR
e 1m 0.06 0.06
50cm 0.07 0.06
HhBEE
im 0.06 0.06
50cm 0.08 0.06
HEHEIL
im 0.08 0.06
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

— TR BRI
e . R (1 Sv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.08 0.07
HREESNEE
1m 0.07 0.06
50cm 0.08 0.07
26 | RIEFWT| W |[ERTHE RTIVKIRE 68248
1m 0.08 0.07
SAEAAN TH/ %o 30em 007 H1SEETHESIZE
g YRIEF A
1m 0.06
50cm 0.08 0.06
IREEE M
1m 0.09 0.06
50cm 0.08 0.08
RAo#Hnry
1m 0.09 0.08
50cm 0.09 0.08
HrE H®
1m 0.08 0.08
50cm 0.08 0.07
SEF
1m 0.07 0.07
50cm 0.09 0.09
R
1m 0.09 0.09
50cm 0.09 0.09
FELVE
1m 0.08 0.09
50cm 0.08 0.07
HIDKE
1m 0.07 0.07
27 | RiEFHEWW| BR# [RUER 6A29H
50cm 0.07 0.07
FHHhrE
1m 0.06 0.06
50cm 0.08 0.07
FRENE
1m 0.07 0.07
BINDINE - MDYEDIME o0em 008 007
ER
1m 0.09 0.07
50cm 0.08 0.08
PE LT
1m 0.08 0.08
50cm 0.08 0.09
R
1m 0.08 0.08
50cm 0.08 0.08
HER
1m 0.09 0.08
50cm 0.07 0.07
HERER
im 0.06 0.07
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im LS LEES
50cm 0.09 0.08
TASZERFEIRE
1m 0.09 0.08
50cm 0.09 0.09
I=Le
1m 0.08 0.09
27 | RiEFHEWW| BR# [RUER 6A29H
50cm 0.08 0.07
RILN—IRTIVELES
1m 0.07 0.07
50cm 0.07 0.06
RURRHFEES
1m 0.06 0.05
50cm 0.08 0.07
BAERA
1m 0.08 0.07
B WY SR RT LERE o0em 007 007
" m 0.06 0.07
50cm 0.08 0.07
B/RTIURRTIV
1m 0.07 0.07
50cm 0.06 0.06
B/ TV RKRT IV
1m 0.07 0.05
50cm 0.07 0.06
BE/BARTIV
1m 0.06 0.06
50cm 0.07 0.06
iR A O
1m 0.05 0.06
50cm 0.07 0.06
28 | RiEFWT | BRI [BF/KERER KNG 68308
1m 0.07 0.06
50cm 0.09 0.08
RTIVEL
1m 0.08 0.08
50cm 0.07 0.07
EEE vl
1m 0.07 0.06
50cm 0.08 0.07
w5
1m 0.07 0.07
50cm 0.07 0.07
LA HH->H
1m 0.06 0.07
50cm 0.07 0.06
DPRE
1m 0.06 0.06
50cm 0.06 0.07
#E MR
im 0.06 0.07
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

(uSv/h)
s B R RAUB) D =
No. | HETH | X% BABOBH v HEAB | s00m = %150 e
or HE A
im fER fER
50cm 0.05 0.06
EEE LS
1m 0.06 0.06
50cm 0.07 0.06
itk
1m 0.07 0.07
50cm 0.07 0.06
RUTINE
1m 0.06 0.06
50cm 0.08 0.07
HIEBHRTIL
1m 0.09 0.07
28 | &FEWT | BRRM [F/RER 6A30H
50cm 0.08 0.06
RIEE S AT IIVE S
1m 0.07 0.06
50cm 0.07 0.06
E/HEMER
1m 0.06 0.06
50cm 0.07 0.07
E/BRRN\RE
1m 0.06 0.07
50cm 0.08 0.07
B/ YR RN\RZEIES
1m 0.08 0.07
50cm 0.09 0.08
ESAR
1m 0.09 0.08
50cm 0.08 0.08
EE2HTSY
1m 0.08 0.08
50cm 0.07 0.06
SRESHI—AVE
1m 0.07 0.06
50cm 0.07 0.07
ESHBNE
1m 0.08 0.06
50cm 0.11 0.09
29 EZAT i |EEATHE RERARBER 6A29A
1m 0.10 0.09
50cm 0.08 0.07
AFEEEIL AR LEE
1m 0.07 0.08
50cm 0.05 0.06
BOELERNR
1m 0.06 0.05
50cm 0.09 0.08
EBELUAE
1m 0.08 0.08
50cm 0.08 0.07
YA ENENR
im 0.07 0.07
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.09 0.07
EDaAVMREEFE)
1m 0.08 0.07
50cm 0.06 0.07
29 EZAT mE  |EEATE BE#HIES 6A298
1m 0.07 0.07
50cm 0.07 0.07
BEONREES
1m 0.07 0.07
50cm 0.08 0.07
30 E%AW | BRH [BHER pHELH 68298
1m 0.07 0.07
50cm 0.09 0.08
PR
1m 0.08 0.07
50cm 0.08 0.07
REEREES
1m 0.08 0.07
31 EZAT | BRI [BUEERR 6829R
50cm 0.09 0.07
REF
1m 0.08 0.07
50cm 0.07 0.07
INRE—ZF)L
1m 0.07 0.07
50cm 0.10 0.09
LWTOR
1m 0.10 0.09
32 E%AW | BRI (LLTOKW 7R28
50cm 0.08 0.08
EtE5
1m 0.08 0.08
50cm 0.10 0.10
AnHLIUREH
1m 0.10 0.10
50cm 0.10 0.10
ZTTYOEEXREE
1m 0.09 0.09
33 EZAM | BRH [ShHLIUREH 7RA2H
50cm 0.07 0.08
E1EEHIE
1m 0.07 0.08
50cm 0.09 0.09
E28EIE
1m 0.08 0.08
50cm 0.10 0.10
AO—8XA>
1m 0.11 0.10
34 EERT | BER# [BEREELER 7RA2H
50cm 0.08 0.08
EtE5
1m 0.09 0.07
50cm 0.07 0.07
35 HERE | BR#t BRER BHADEHAQ 7R108
im 0.07 0.07
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.06 0.06
BRERAYCERNER
1m 0.06 0.06
50cm 0.07 0.07
LASDERNER
1m 0.07 0.07
35 BEAE | BER# [BRER 7R108
50cm 0.07 0.07
RFVERINTHIST
1m 0.07 0.07
50cm 0.06 0.06
ERFE
1m 0.07 0.07
50cm 0.07 0.07
BT HE
1m 0.07 0.07
50cm 0.06 0.06
RES
1m 0.06 0.06
50cm 0.07 0.07
REE
1m 0.07 0.07
50cm 0.07 0.07
)= 1F Y
1m 0.07 0.07
50cm 0.08 0.08
36 HERET | BR (h/IRER MNEOMENE 7R108
1m 0.07 0.07
50cm 0.07 0.07
\—E S
1m 0.07 0.07
50cm 0.07 0.07
BREBER
1m 0.07 0.07
50cm 0.06 0.06
BRIGE
1m 0.07 0.07
50cm 0.07 0.07
BRIGIGEIES
1m 0.06 0.06
50cm 0.07 0.08
POSRELAD
1m 0.08 0.08
50cm 0.06 0.06
FHBI—X
1m 0.06 0.06
37 BEAE | RR# (EMAUER 7R10H
50cm 0.10 0.10
REARBEFERZLA
1m 0.10 0.10
50cm 0.09 0.09
ENEREEKENE
im 0.09 0.09
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.08 0.08
37 BEAE | CER (BRAER B EIREESES 7R108
1m 0.08 0.08
50cm 0.09 0.08
RREDHZFATF
1m 0.09 0.08
50cm 0.07 0.08
38 | =REBIRTHE | ER# RTER Rl 68248
1m 0.08 0.08
50cm 0.08 0.08
E2BEIE
1m 0.07 0.08
50cm 0.08 0.07
[Eo&in®iEVD FHiEH
1m 0.07 0.06
50cm 0.07 0.06
FyF M
1m 0.07 0.06
39 HiET SRR (HNEERR 6A258
50cm 0.07 0.06
SIEER
1m 0.07 0.06
50cm 0.08 0.06
EZaAVMRER)
1m 0.08 0.07
50cm 0.09 0.08
HWEALE
1m 0.09 0.08
50cm 0.09 0.08
WREE #iim
1m 0.08 0.08
50cm 0.06 0.07
40 HEET ER (TGRSR ZIRBRIREE 6A25H
1m 0.07 0.07
50cm 0.08 0.07
IREE HDH
1m 0.07 0.07
50cm 0.08 0.07
FAO) i3
1m 0.08 0.07
50cm 0.07 0.06
D%
1m 0.06 0.06
50cm 0.08 0.07
55HELEIE
1m 0.07 0.07
4 Z BT RRM | ETER 7R1H
50cm 0.10 0.10
VIEFEY
1m 0.11 0.09
50cm 0.08 0.08
im 0.08 0.08
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.07 0.07
42 =-1) AR |BFERER D5Di5 7RA1H
1m 0.08 0.07
50cm 0.08 0.07
Lo L
1m 0.07 0.07
43 FAFIAS SRR |BRFLER 1A7H
50cm 0.06 0.07
EHE5
1m 0.07 0.07
50cm 0.06 0.07
HOODH
1m 0.06 0.07
44 | REXEET| BERH BHER 7R18
50cm 0.07 0.07
EIEIS
1m 0.07 0.07
50cm 0.10 0.07
HEE
1m 0.09 0.07
50cm 0.10 0.08
45 | EEEET| RR# KRR EHEEL5 (B4 7A18
1m 0.08 0.08
50cm 0.07 0.07
EHELL5 (A1)
1m 0.08 0.08
50cm 0.10 0.09
[FoLUHHEE
1m 0.09 0.09
50cm 0.10 0.09
FRERERtEVY—
1m 0.11 0.09
46 | SEXERET| BER# |FEEER 7R18
50cm 0.09 0.09
EHEEL5 (B4
1m 0.09 0.09
50cm 0.08 0.08
BHELL5 (A1)
1m 0.07 0.07
50cm 0.07 0.05
il
1m 0.09 0.05
50cm 0.06 0.06
FOF
1m 0.06 0.05
47 T SERET mRH |ZEFLERR 68298
50cm 0.07 0.07
RE EnH#
1m 0.06 0.06
50cm 0.07 0.06
HE ERRERR
1m 0.06 0.05
50cm 0.09 0.09
48 BRI | RRH |[ERIKER B RBERE 7R108
im 0.09 0.08
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

(uSv/h)
s B R RAUB) D =
No. | HETH | X% BABOBH v HEAB | s00m = %150 e
or HE A
im fER fER
50cm 0.09 0.08
HFORRE TILTEREDE
1m 0.08 0.07
50cm 0.08 0.08
BaThi%
1m 0.08 0.07
48 ERIRA | GRRM |[FERIKIER 7R108
50cm 0.07 0.07
RO
1m 0.06 0.07
50cm 0.08 0.07
$ASF AL
1m 0.08 0.06
50cm 0.07 0.07
ThHim
1m 0.07 0.07
50cm 0.07 0.07
CoHHZEEE
1m 0.06 0.08
49 RRHET SRR FRIRER 7H9H
50cm 0.09 0.09
FNE HoE
1m 0.08 0.09
50cm 0.07 0.07
ZNOE HoBEEIHE
1m 0.08 0.06
50cm 0.08 0.07
A LEEBNAERNR
1m 0.08 0.07
50cm 0.06 0.07
BHEDS
1m 0.07 0.07
50cm 0.08 0.08
50 ASEE | RRH [HADXEBR SEBRRTIL 7RA78
1m 0.08 0.08
50cm 0.07 0.08
RETAN)THRTIV
1m 0.08 0.08
23272177 o0em 008 007
HEARRS 1m 0.08 0.07
50cm 0.07 0.07
51 AEE | BRI [ REER RED S5 7A78
1m 0.08 0.07
50cm 0.08 0.07
RO i
1m 0.09 0.07
52 SERT | RRM |B/TEERR 7R78
50cm 0.08 0.06
2iEE
1m 0.07 0.06
50cm 0.09 0.07
53 MSiER | ERH |HELER REE 7R158
im 0.09 0.07
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RF N K EE 3 R AE (RSHRYD)
BRRKERELIN(RFHID

AESS

ZERIRERAIEE

[ o . (uSv/h)
No | WEH | E# | EkmO&H ARRRAID | wmAe oo | 5m =150 %
or HE A
im fER fER
50cm 0.08 0.08
53 FRERT | BR# [GELRER REEEES 7R158
1m 0.08 0.08
50
BHOB bl 011 %15 E [FRAfRIZ LY
e AERT
1m 0.11
50cm 0.13
NP % 15[EIFfEICKY
EHDRZEES BIE A
1m 0.12
54 SRR | RRH |MEER 7R15H
50cm 0.12 0.07
TEADTE
1m 0.11 0.08
50cm 0.13 0.07
TEADEEES
1m 0.12 0.08
50cm 0.10 0.08
55 FRERT | BR# [LOER mfRE L — 7R7H
1m 0.10 0.09
50cm 0.10 0.09
56 FRERT | BAR# FRER RTILEER 7R78
1m 0.09 0.08
50cm 0.10 0.09
57 BEET | RRH [EHLVES S YiE 7R78
1m 0.09 0.09
50cm 0.16 0.15
FoFEbavy
1m 0.16 0.15
50cm 0.18 0.16
EHEL5 (L)
1m 0.17 0.17
58 AEET | BRI [HEILER 68250
50cm 0.16 0.16
EHEEL5 (B4
1m 0.15 0.16
50cm 0.14 0.16
BHELL5 (A1)
1m 0.14 0.17
50cm 0.10 0.09
MHI5DE
1m 0.09 0.10
50cm 0.09 0.08
59 Nim# BRI (HDIEDE hbnintig 6A248
1m 0.08 0.09
50cm 0.10 0.09
EHE5
1m 0.10 0.08
50cm 0.08 0.08
B5WE
1m 0.08 0.08
60 WhEM | BRH#tt (LWVHESFEER 7A38
50cm 0.11 0.10
BRM
im 0.11 0.10
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RF N K EE 3 R AE (RSHRYD)
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— TR BRI
A RAR) O i S/
sle B EIM R (TRA =m
No. | TETH | K% BAIBOE I il BEAE | so0m = prappare %
or HE A
im fER fER
50cm 0.09 0.07
BLHEAD(REFMSR)
1m 0.08 0.08
50cm 0.10 0.08
60 LWhEm | BRi#tt [LWhEFERER BOHLE 7R38
1m 0.08 0.07
50cm 0.09 0.08
SFZmKA
1m 0.09 0.08
50cm 0.07 0.06
D%
1m 0.06 0.06
61 WhEM | BRI (7KER 68258
50cm 0.05 0.05
EIEIS
1m 0.06 0.06
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